
fFormal as 
Simkle Ianterest = 

Amo wunt whtn intrst is Simku ? P 1+NR) 
PNR 

hmo ut when inivest is tom bowrd PlitY) 
EPedwe eate Interst 

hutue Value - pre sent value x (itr 
frosont Valueiz huthse vale bisuwti ng 

Disuowntng fatto 

Aonuty Regula 

2 

nt2 

factor 

(1+r)n 
Reriodicd Anat4)-1| 

Amt 

Present yalue oj Annuhy due leriodiedx Anhuy xL1+r 

+L then press CT 

Prasart voJbue ber þutuity Reriodicad Antr 

fatr 

Ho) to And Disowdvg factor Cal lator ? o n yee) 1÷ [Hr) then bress =EE- Hu steh cot 
tomes 

Ho to nd Annuity fador Un (lator ?or n yes) 1÷ [1Hr) then bress =,= HU steþ toud Comes 



{ "type": "Document", "isBackSide": false }

